
linke Spalte 

u = a + b + c 

b = u – a - c 

A = 
𝑎 ∗ℎ𝑎

2
 

ha = 
2∗𝐴

𝑎
 

s = 
𝑢

2
 

u = 2*s 

s = 
𝑎+𝑏+𝑐

2
 

c = 2s – a - b 

u = 3*a 

a = 
𝑢

3
 

r = 
𝑎𝑏𝑐

4𝐴
 

A = 
𝑎𝑏𝑐

4𝑟
 

 

p = 
𝐴

𝑠
 

A = p*s 

h = 
𝑎

2
 * √3 

a = 
ℎ∗2

√3
 

A = 
𝑎²

4
 * √3 

a = √
𝐴∗4

√3
  

P = 
ℎ

3
 * √3 

h = 
𝑝∗3

√3
 

c² = a² + b² 

b = √𝑐² − 𝑎² 

b² = c * q 

q = 
𝑏²

𝑐
 

 

 

 

 



rechte Spalte 

u = 2a + 2b 

b = 
𝑢−2𝑎

2
 

u = (a + b) *2 

b = 
𝑢

2
 - a 

A = a + ha 

ha = A - a 

u = 4a 

a = 
𝑢

4
 

a² = (
𝑒

2
)² + (

𝑓

2
)² 

f = √𝑎² − (
𝑒

2
)   *2 

d = √𝑎2 + 𝑏2 

a = √𝑑² − 𝑏² 

u = 2 + 2b + c 

c = u – 2 – 2b  

A = 
(𝑎+𝑐)∗ ℎ

2
 

c = 
2𝐴

ℎ
 - a 

u = 2r + b 

r = 
𝑢−𝑏

2
 

h² = b² - (
𝑎−𝑐

2
)² 

c = −√−h² +  b²  *2 + a 

O = 2r * π * (r + h) 

h = 
𝑂

2𝑟∗ 𝜋
 - r 

A = √𝑠 ∗ (𝑠 − 𝑎) ∗ (𝑠 − 𝑏) ∗ (𝑠 − 𝑐) 

𝑎 = − 
𝐴²

𝑠∗(𝑠−𝑏)∗(𝑠−𝑐)
 + s 

s² = h² + r² 

r = √s² −  h²

 

 


